Law of Large Numbers:

The variation in a set of data decreases as the
sample size increases.

In general, the larger the data set the
smaller the standard deviation.
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This formula actually gives the margin of error
reported in the article! It really works!!!

Margin of Error Formula:

_L n = sample size Convert this to a percent
Jn by x100.

A random sample of 275 people shows that 44% are not
satisfied with the job the governor is doing so far. What is
the margin of error of this survey?

What is the interval that is most likely to contain the
population proportion for the percent of people that are not
satisfied?
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In a poll of 800 registered voters Mondale received 352
votes and Carter received 336 votes.

What happens to the margin of error as the sample

I
size increases? : . e
Margin of error should decrease with n

a larger sample size

As sample size decreases? k . 3% / . .
Margin of error should increase with a smaller Mendaie: goo"%é/ Carter: % =427
sample size. 2. Find the margin of error rounded to the nearest tenth.

e Xloo=23.5%
3. Find the range of values for each candidate that likely
The entire population - - EVERYBODY! contanshelrpepy RHcRIoRoTtion: ) 4z 5

Mondale: 5 < 48 Y7.< v Carter: 77 8 S

What sample size would give the most accurate results?

A poll take before an election shows that 52% of
registered voters are in favor of the Proposal. If the
survey has a margin of error of +4% estimate the
number of voters in the poll to the nearest whole

Should Mondale be confident that he has
the election won?

Mondale: Carter: number. Ly "/D — < p.0Y
40.5% to 47.5% 38.5% to 45.5%
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Mondale could lose If he ends up on the lower end of his
predicted range and Carter ends up on the upper end of his

predicted range \f\ = él’%



A large high school in Texas has 800 juniors. In a survey of
230 of these juniors 102 already had career plans after high
school. ra
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1. Find the sample proportion. / ~
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2. Find the margin of error {
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3. Find the interval that most likely co%%ins the actual / ,‘.(9/
percentage (population proportion) of juniors who have Lf\{ el .
actually decided on their future career plans.

4. Find the interval for the actual number of juniors who have

made this decision. 3)’(&01/) = 4 C%Uu{ 23 L{oo>
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The highest rated Super Bowl was the XVI Game

when 49% of the households watched the game. The
margin of error was +£8%.

1. Find the number households that were in the

survey. B o% - '\*“;,
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2. How would the margin of error change if the
number of households surveyed were quadrupled?

l\ \ —(\ When the sample size is
Quadrupled the margin

W - E ' (ﬁ;\ of error is cut in half.

A sample of 50 yogurt containers is taken off the production line
and tested. 3 are found to have traces of E-coli.

1. Find the sample proportion. = % IUU:@ /

2. Find the margin of error.
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3. If the manufacturer produces 3200 containers of yogurt
a day how many of those will probably have traces of E-coli?
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zero to 640 containers of yogurt
may have traces of E-coli.

You can now finish:

Homework #20
Sec 12-5
Pages 680-682

Problems 2, 3, 7-10, 13-17, 31



3. A sample of 60 shoe laces coming off of the assembly has a
mean length of 42.08 inches and a standard deviation of 0.23
inches.

c¢) Find the range of lengths that are within 2 standard deviations
of the mean.
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